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Subtracting without Regrouping Name:
Solve each problem. Answers
1,
1) 996 2 5,777 3 38 4 728
- 344 - 2,100 -7 -412 2
3.
4.
5 4,751 6 18 7 201 8) 9,441 >
- 3,320 - 2 - 10 - 4,100 6
7.
8.
9 53 10) 983 11) 9,454 12) 96 9
-31 -712 - 5,321 - 50
— — — — 10.
11,
12,
13) 168 14) 4,358 15 66 16) 787 13,
- 32 - 226 -1 -110
- - T - 14,
15.
16.
17) 2,515 18) 32 19) 816 20) 6,217 17
- 304 - 10 - 503 -1,001
18,
19.
20.
1-10 [95]90[ 8580 75| 70| 65] 60 55 | 50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
1 652
1) 996 2) 5,777 3 38 4 728
- 344 - 2,100 -7 -412 . 3677
652 3,677 31 316
3. 31
4 316
5 4,751 6) 18 7 201 8 9441 > 1431
- 3,320 -2 - 10 - 4,100 . 16
1,431 16 281 5,341
7 281
8. 5341
9 53 10) 983 11) 9,454 12) 9g 9 22
-31 -712 -5,321 - 50 271
22 271 4133 46 10
11 4133
12 46
13) 168 14) 4,358 15) 66 16) 787 13. 136
- 32 - 226 -1 -110
136 4.132 65 677 v 432
15. 65
16. 677
17 2,515 18) 32 190 816 20) 6,217 - 2211
- 304 -10 - 503 -1,001
2,211 22 313 5,216 18. 22
19, 313
20. 5216
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Subtracting without Regrouping Name:
Solve each problem. Answers
16 22 652 281
46 316 271 3677 1.
31 1431 5341 4133
2.
1) 996 2) 5,777 3 38 4 728 3
- 344 - 2,100 - 7 -412
- - - - 4,
5.
6.
7.
8.
5 4,751 6) 18 7 291 8 9,441 9.
- 3,320 - 2 - 10 - 4,100
- - - - 10.
11.
12.
9 53 10) 983 11) 9,454 12) 96
-31 -712 - 5,321 - 50

M ath M odified 1-10 |92 (83| 75| 6758|5042 33[25]17]
a www.CommonCoreSheets.com 11-12| 8 | O




	Worksheet
	Answer Key
	Modified Worksheet

